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Research is

Options :

1. Searching again and again

2. Finding a solution to any problem

3. Working in a scientific way to search for the truth of any problem
4. Working in a random way hoping that luck will deliver the goods
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How can one judge the depth of any research?
Options :

1. By the research title

2. By the research objectives

3. By the duration of research

4. By the total expenditure on research
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The first two steps in starting a Research program are:

Options :

1. Identifying the Research Problem and then Extensive Literature Survey



2. Collecting data and then analysing it
3. Literature Survey followed by data collection
4. None of these
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Why do you need to review the existing literature?

Options :

1. To make sure you have a long list of references

2. Because without it, you could never reach the required word-count
3. To find out what is already known about your area of interest

4. To help in your general studying
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A formal document that presents the research objectives, design of achieving these objectives, and the expected
outcomes of the study is called:

Options :

1. Research design

2. Research proposal
3. Research hypothesis



4. Research report

Question Number : 5 Question Id : 5400731005 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ST A, 31 A DI U A o FolTe, SR 31899 & SrUfara uRome! &1 IRd &= arer SiuamRe
GITaS HEardl o

Options :

1. 3y fesmgA

2. 3THY™ U9

3. 3THYM RSB

4. 3Ty e

Question Number : 6 Question Id : 5400731006 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What are the core elements of a Research Process?

Options :

1. Introduction; Data Collection; Data Analysis; Conclusions and Recommendations

2. Executive Summary; Literature Review; Data Gathering; Conclusions; Bibliography

3. Research Plan; Research Data; Analysis; References

4. Introduction; Literature Review; Research Methodology; Results; Discussion and Conclusions
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Which of the following is true regarding research objectives?

Options :

1. Research objectives, when achieved, will provide sufficient earnings to obtain a reasonable return on investment.
2. Research objectives, when obtained, will ensure the viability of the marketing research department.

3. Research objectives, when achieved, provide the information necessary to solve the problem.

4. Research objectives are seldom achieved
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A research scholar gets his PhD degree based on:

Options :

1. The number of years he spends as a scholar followed by passing a Viva Voce examination
2. The hard work he puts in as a scholar followed by passing a Viva Voce examination

3. Solely fulfilling the minimum required attendance

4. The positive evaluation of his Research thesis followed by passing a Viva Voce examination
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The quality of any research can be gauged by :

Options :

1. The publication of the research work in Peer reviewed Journals
2. The publication of the research work in local newspapers

3. The publication of the research work in popular magazines

4. poster presentations
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Data collection in research in the sciences usually consists of :
Options :

1. Experimental data or computations

2. Surveys through personal interviews

3. Surveys through telephonic interviews.

4. By mailing of questionnaires
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Which of the following activities can be considered a part of Research work?:

Options :

1. Partaking in the teaching and administrative activities of the department

2. Teaching students with patience and dedication the existing theories

3. Deriving pleasure in solving text book problems

4. Creating and proposing a novel and hitherto unknown theory or mathematical model
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A researcher always looks to publish his work in an important high quality journal. One way to identify the quality of a
journal is by :

Options :

1. The selling cost of each issue of the journal

2. The Impact factor; the higher it is the better the journal

3. The money charged for each publication

4. None of these
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A research paper includes among other things :

Options :

1. Description of the output or findings of research work
2. Contains a research proposal

3. Is a well written fictional story

4. Is a list of daily research activity
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A journal generally publishes a research paper :

Options :

1. Only if the publication fee is credited

2. Only after it is reviewed and recommended by independent experts
3. Provided the paper is well written irrespective of the content.

4. Provided the Authors testify that the paper may be accepted
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A research work which aims to find a solution for a practical problem facing society or an industrial organization is
called:

Options :
1. Empirical research
2. Fundamental Research

3. Conceptual research
4. Applied Research
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Research which works on the formulation of a sound theory to explain a phenomenon is:
Options :

1. Applied Research

2. Empirical research

3. Theoretical /Fundamental Research

4. Conceptual research
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A kind of theory which is not based on solid basic science but manages to explain some observable or experimental
phenomenon is called:

Options :

1. Applied research.

2. Empirical research

3. Fundamental research
4. Conceptual research
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Research in which statistical, mathematical, or computational techniques are applied to obtain accurate results is called:
Options :

1. Applied Research

2. Empirical research

3. Fundamental Research

4. Quantitativeresearch
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Formulation of research problem is the step in which:
Options :

1. The data is collected

2. The literature is reviewed

3. The research problem is identified

4. The research tools are identified and readied
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The reason why a list of references or bibliography is added at the end of a research paper or report is :
Options :

1. To increase the number of pages in the paper or report

2. To provide readers with references for further research

3. To prove that the work is genuine

4. To prove that the Authors surveyed the literature
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A research article or paper begins with which of the following:
Options :

1. Abstract

2. List of references

3. Introduction

4. Conclusions
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Research design is :

Options :

1. Collecting references

2. Identifying the field of research

3. Laying the framework for conducting the research program
4. data collection
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A concise summary of the research work in a report is called :
Options :

1. Abstract

2. Title

3. Results and discussion

4. Conclusions
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A research article which is not original work but is copied from others:
Options :



1. is legally permissible

2. is unethical and is called plagiarism
3. is allowed after paying a fine

4. None of these
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Intellectual property right gives an inventor or creator :
Options :

1. the right to buy or sell land

2. control over the invention/creation

3. manage one’s property

4. None of these
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One way to protect your intellectual property is through a:
Options :

1. Newspaper advertisement

2. Publicizing through Youtube

3. Patent



4. None of these
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Publishers of Journals and books prevent the duplication of their papers/books via:
Options :

1. Warning signs on the covers

2. Copyright law

3. Placards

4. None of these

Question Number : 27 Question Id : 5400731027 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

U 3R D! & THTRIS 30 THI/Jxdb] & GIex1d Dl Adhd o:
Options :

1. AR W TG & Hebdl

2. BIUl ST BT
3. WHTS

4. DS TRl

Question Number : 28 Question Id : 5400731028 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The smallest value that can be measured by a measuring instrument is called:
Options :

1. Least count

2. Accuracy

3. Error

4. None of these



Question Number : 28 Question Id : 5400731028 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. dRe BIde

2. Gl
3.3f¢
4. BI% T8I

Question Number : 29 Question Id : 5400731029 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The visible spectrum of light lies between the wavelengths:
Options :

1. 100 nm to 400 nm

2.400 nm to 700 nm

3. 100 nm to 1000 nm

4. 800 nm to 1200 nm

Question Number : 29 Question Id : 5400731029 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ehTRT T 22T TWeeH a7l e & sl YT B
Options :

1. 100 nm ¥ 400 nm

2. 400 nm ¥ 700 nm

3. 100 nm ¥ 1000 nm

4. 800 nm ¥ 1200 nm

Question Number : 30 Question Id : 5400731030 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The magnification M of a two stage compound microscope having magnifications M1 and M2 for the two stages is:

Options :

1.M=MI1-M2
2.M=M1/M2
3. M=MI1+M2
4. M =M1 x M2

Question Number : 30 Question Id : 5400731030 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

a1 RN & forg 3mad M1 3R M2 a1l &l TRUT Tl HIShIReb Y T 3Taei M 3:

Options :

I.M=M1-M2
2.M=M1/M2
3. M=MI1+M2
4. M =M1 x M2

Question Number : 31 Question Id : 5400731031 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Ozone layer around the Earth is important because it :
Options :

1. Prevents the carbon dioxide from entering the Earth

2. Stops the infra-red light from entering the Earth

3. Prevents the harmful UV light from entering the Earth
4. Directly causes the greenhouse effect

Question Number : 31 Question Id : 5400731031 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 32 Question Id : 5400731032 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fossil fuels like Petroleum, natural gas and coal release CO2 and other pollutant gases which :
Options :

1. cause global warming due to the Green house effect

2. lead to enhanced greenery on the Earth

3. lead to global cooling resulting to the freezing of the oceans.

4. None of these

Question Number : 32 Question Id : 5400731032 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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2. I IR gRRATel! Sg™ o fore Agd
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4. DI g1

Question Number : 33 Question Id : 5400731033 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The sky appears blue in the day time because:

Options :

1. Sunlight is completely blue

2. The molecules in the atmosphere predominately scatter the blue wavelength of sun light
3. The clouds produce their own light which is blue

4. None of the se

Question Number : 33 Question Id : 5400731033 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

&1 & g ST e i a1 § wife:

Options :

1. 0 &1 YT I avg ¥ e gt g

2. qIgHSH § 30 g&T U § Y & TebTl bl =fteft v e bl forava §
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Question Number : 34 Question Id : 5400731034 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Heat is a form of energy which is measured in :
Options :

1. Pounds

2. Watts

3. Watt-hours

4. Calories

Question Number : 34 Question Id : 5400731034 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
ST Sl &1 Th &4 g o1 H197 977l -
Options :

1. USS |

2. 9eq H

3. 9e-UcH



4. A H

Question Number : 35 Question Id : 5400731035 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
One unit of Electricity equals:
Options :

1. 100 Watts

2. One Watt

3. One Kilo Watt hour

4. One Watt hour

Question Number : 35 Question Id : 5400731035 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
fIegd &) U SIS RIR eIl &
Options :

1. 100 dIc

2.Uch dIc

3. T fopeftare ger

4. T dIc °el

Question Number : 36 Question Id : 5400731036 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which statistical measure is used to describe the dispersion of data around the mean?
Options :

1. Median

2. Mode

3. Variance

4. Skewness

Question Number : 36 Question Id : 5400731036 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A1 & IRT 3R ST & el BT UM A & T8 fob e WiRkeqe 1 ATT HT SUANT fasar STl 52
Options :

1. AT

2. 118

3. ORI

4. foR®TUH



Question Number : 37 Question Id : 5400731037 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which statistical test is used to compare means between two groups?
Options :

1. Chi-square test

2. t-test

3. Z test

4. None of these

Question Number : 37 Question Id : 5400731037 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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2. ST Wi
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Question Number : 38 Question Id : 5400731038 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a normal distribution, roughly what percentage of data falls within one- standard deviation of the mean?
Options :

1.0.45

2.05

3.0.68

4.0.95

Question Number : 38 Question Id : 5400731038 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1.0.45

2.0.5

3.0.68

4.0.95

Question Number : 39 Question Id : 5400731039 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which of the following statements about the normal distribution is true?
Options :

1. It is a discrete probability distribution

2. The mean, median, and mode are equal.

3. The area under the curve is always less than 1.

4. It is either positively or negatively skewed

Question Number : 39 Question Id : 5400731039 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 98 U 31dd GHTHT faavur g
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Question Number : 40 Question Id : 5400731040 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What does the term “p-value” stand for in hypothesis testing?
Options :

1. Probability value

2. Population value

3. Percentage value

4. Power value

Question Number : 40 Question Id : 5400731040 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

IR gieor § "p-value" Rlo hT T 3 %?
Options :

1. TR 7

2. SFEEAT HA

3. fer=Id A

4. Qfed gy

Question Number : 41 Question Id : 5400731041 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What does the term “standard deviation” represent in statistics?
Options :

1. The average value of a dataset



2. The difference between the highest and lowest values in a dataset
3. The spread or dispersion of data points around the mean
4. The proportion of data points that fall within one standard deviation

Question Number : 41 Question Id : 5400731041 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ST T H1 39d Jed

2. ST B Iwdy SR fAgaw A & &9 &1 3R

3. M1 & 9RI 3R Se fagait &1 TR a1 harg
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Question Number : 42 Question Id : 5400731042 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

A small “standard deviation” for a given set of data means:
Options :

1. The data are tightly clustered around the mean

2. The number of data points are insufficient for study

3. The number of data points are too large for study

4. The range of the data is zero

Question Number : 42 Question Id : 5400731042 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ST I A1 & IRT 3R HUBR Fawex [T STl §

2. 3T & forg Set figaht &t v s §
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Question Number : 43 Question Id : 5400731043 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the purpose of a Z-test in hypothesis testing?

Options :

1. To compare the means of two independent groups

2. To compare the means of two paired groups

3. To compare the means of three or more independent groups

4. To compare the mean of a population to the mean of a sample within that population



Question Number : 43 Question Id : 5400731043 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :
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Options :
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Question Number : 44 Question Id : 5400731044 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a chi-square test, what does the null hypothesis state?

Options :

1. There is a significant difference between the observed and expected frequencies.
2. There is no significant difference between the observed and expected frequencies.
3. The population proportion is equal to the sample proportion.

4. The population mean is equal to the sample mean.

Question Number : 44 Question Id : 5400731044 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 45 Question Id : 5400731045 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a chi-square test, what does the chi-square statistic represent?
Options :

1. The probability of a Type I error

2. The measure of effect size

3. The difference between the observed and expected frequencies
4. The probability of a Type II error

Question Number : 45 Question Id : 5400731045 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 46 Question Id : 5400731046 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which statistical test is used to analyse the association or link between two categorical variables?
Options :

1. T-test

2. Chi-square test

3. Z test

4. None of these

Question Number : 46 Question Id : 5400731046 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ST odterm

2. HTs-ai GHEOl

3. Z TRig

4. D5 Tol

Question Number : 47 Question Id : 5400731047 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A statistical process of analysing and combining results from several similar studies is called :
Options :

1. Meta analysis

2. Correlation analysis

3. Regression

4. Error analysis To ensure the sample size is large enough

Question Number : 47 Question Id : 5400731047 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. HeT fawerr
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Question Number : 48 Question Id : 5400731048 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which statistical measure is used to describe the strength and direction of a linear relationship between two continuous
variables?

Options :

1. Median

2. Mode

3. Correlation coefficient
4. Standard deviation

Question Number : 48 Question Id : 5400731048 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ArfedenT
2. 118

3. g HdY UMb
4. g fogaH

Question Number : 49 Question Id : 5400731049 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A Pilot study in research is:

Options :

1. A preliminary study used to study the feasibility of a project
2. A final study ready for take-off

3. used when it becomes clear that the work will be abandoned
4. a seminar to showcase the research output

Question Number : 49 Question Id : 5400731049 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 5400731050 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the purpose of blinding in a clinical trial?

Options :

1. To keep the researchers unbiased

2. To keep the participants unaware of the treatment they receive
3. To prevent confounding variables from affecting the results

4. To ensure the sample size is large enough

Question Number : 50 Question Id : 5400731050 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. RMedmarsll &I e @1

2. U BT 37h GRT U SUAR ¥ 3o 3@+ & forg
3. YIAd TR &1 GO &) gHTFad B3 9 U & forg

4. T8 AT S & o fo 7T SR BTt S81 8

Zoology

Section Id : 54007322
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 50
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 54007322
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 51 Question Id : 5400731051 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Promastigote form found in invertebrate host Sand fly belongs to which of the following
Options :

1. Leishmania infantum

2. Leishmania donovani

3. Leishmania canis

4. Leishmania Chagas

Question Number : 51 Question Id : 5400731051 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 52 Question Id : 5400731052 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Alary muscles in insects are related to which of these?
Options :

1. Gut

2. Leg

3. Heart

4. Wing

Question Number : 52 Question Id : 5400731052 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 53 Question Id : 5400731053 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Hemimetabolous development is observed in which of the following?
Options :



1. Grasshopper
2. Housefly

3. Dragonflies
4. Butterfly

Question Number : 53 Question Id : 5400731053 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. fegt

2. O A
3. IR
4. foraedt

Question Number : 54 Question Id : 5400731054 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Blood of Mollusca consist of which of these Cells?
Options :

1. RBC

2. Choanocytes

3. Amebocytes

4. Coelomocytes

Question Number : 54 Question Id : 5400731054 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 55 Question Id : 5400731055 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of these is not a class of sub phylum Urochordata
Options :

1. Ascidiacea

2. Thaliacea

3. Larvecea



4. Pterobranchia

Question Number : 55 Question Id : 5400731055 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

3% B P SuY RpISSer 1 a1f 78T 32
Options :

1. TSRy

2. ATy

3. ATd Ry

4. RIS

Question Number : 56 Question Id : 5400731056 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of these fishes have is not a true fish
Options :

1. Carassius (Gold fish )

2. Hythalamicytes( Silver Carp)

3. Lepisma( Silver fish)

4. Hippocampus ( sea horse)

Question Number : 56 Question Id : 5400731056 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :
e & St ardfaes Tee T8 22
Options :

1. HRIRYG ( TMesthr)

2. BYHIATEEH (Rearard)

3. oiforT( Rycaritha)

4. TRy Wierd)

Question Number : 57 Question Id : 5400731057 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of these fishes shows dorsal fin modified into suckers?
Options :

1. Neoceratodus

2. Echenesis

3. Torpedo

4. Hythalamicytes( Silver Carp)



Question Number : 57 Question Id : 5400731057 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
e & 3 fore yafordl & iy IR gue & 9=Nfd 81 9id 8
Options :

1. FaRRersg

2. IR
3. TRUIS!

4. RYariaTEey

Question Number : 58 Question Id : 5400731058 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Frank Sauer,who studied night time migratory birds “Warblers” suggested that migratory birds use ..........c........... for
direction?

Options :

1. Constellation of stars
2. Sun as a compass

3. Earths magnetic field
4. Telluric currents

Question Number : 58 Question Id : 5400731058 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

AND Thep AT FTe A F T o= aTet Ul araed T S $H gardl o yar yel yar & e o
g 1 fo=n Tas & Re ST T IRA §

Options :

1. ART HSd

2. 0 Pl foga® 3 & wu i
3. 7t & TEDIG &F T
4. R Hedg YRIY

Question Number : 59 Question Id : 5400731059 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Amphicoelousvertebrae are found in which of these vertebrate animals?
Options :

1. Most Reptiles

2. Modern day Birds

3. Eigth vertebrae of Frog

4. All vertebrae of Mammals

Question Number : 59 Question Id : 5400731059 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

IYTTAT TR & afds 4 o § frg HRve! Sig o urdl STt § 2
Options :

1. PR FHFT

2. I & Ueft

3. g B f1adl afdsht

4. Tl ot gt afdsiht

Question Number : 60 Question Id : 5400731060 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

The nucleosome bead contains eight histone molecules. Which of the following histones bind to linker DNA?
Options :

1. H1

2. H2A

3.H2B

4. H3

Question Number : 60 Question Id : 5400731060 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

G & T B 3176 3 o] gde/ 9 & 9 »1H wifge A fefex et § weifdd grar g2
Options :

1. H1

2. H2A

3. H2B

4. H3

Question Number : 61 Question Id : 5400731061 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Which of these genotype is found in person suffering from Klinfelter’s syndrome?
Options :

1. 44+XXX

2. 44+XXY

3. 424+XXX

4. 42+XXY

Question Number : 61 Question Id : 5400731061 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
facithex RigH @ tifsd aafad # &1 SiiHlergy fired §

Options :




1. 44+XXX
2. 44+XXY
3. 42+XXX
4. 42+XXY

Question Number : 62 Question Id : 5400731062 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following repair mechanism will be suitable to remove uracil base from a DNA sequence to incorporate
correct base?

Options :

1. Direct repair mechanism

2. Mismatch repair mechanism

3. Excision repair mechanism

4. Nucleotide excision repair mechanism

Question Number : 62 Question Id : 5400731062 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ST i o RS &R B g et o Bl Siis & forg g # I Siwn Twwrads 9el g
Options :

1. & AR

2. SHA A

3. TR FREAAAA

4, gfoedierss TR IREda

Question Number : 63 Question Id : 5400731063 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Lac operon model has three structural genes lacZ, Y and A. Each gene code for specific enzyme. Genelac Y code for
which of these enzymes?

Options :

1. B-galactose permease

2. B-galactose transacetylase
3. B-Galactosidase

4. a-galactosidase

Question Number : 63 Question Id : 5400731063 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

AP SR Tred B tiF TRTIGD S lacZ, Y TUT A Biciie/ TAD S AT TsH & fow i dxdl &/ dd v
5 9 b USTTgH o Q1Y 1S il &7

Options :

1. p-TIeiae TS UfES



2. pTICIgE S CiIuTers e
3. B- '
4. oG TS o

Question Number : 64 Question Id : 5400731064 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following transports mechanism move two or more substrates across plasma membrane in the same
direction

Options :

1. Uniport

2. Symport

3. Antiport

4. Facilitated diffusion

Question Number : 64 Question Id : 5400731064 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

79 & o It U yumel 3 a1 S 3ifie T Bl wiReHT fRredh &1 T &) fomn H R & Sl 82

Options :

1. gfare
2. Ry

3. Té
4. GITATGIROT

Question Number : 65 Question Id : 5400731065 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of these type of intermediate filaments are found in smooth , skeletal and cardiac muscles
Options :

1. Keratin

2. Kinesin

3. Desmin

4. Dynein

Question Number : 65 Question Id : 5400731065 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

9 4 ¥ HH A UHR & SxAfSue dq, fadmT, Hahra 3R gag UM & Ui ofd g2
Options :

1. fafed

2. PTIARM
3. 3




4. SAMAA

Question Number : 66 Question Id : 5400731066 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of these can be used asan inhibitor of apoptosis without affecting cell proliferation?
Options :

1. Aurintricarboxylic acid

2. Cytokines

3. Rasveratrol

4. Zinc ions

Question Number : 66 Question Id : 5400731066 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

g o for fom e gfY &1 uafad frd, TOoRM & sraRiue &1 avg IUdIT fhar S Tavd 82

Options :
C i od o\

1. 3RS P aToIRes foreh 3

~

2. ISP
3, IRAES
4. Niwsm—g

Question Number : 67 Question Id : 5400731067 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following mediate cell —substratum adhesion?
Options :

1. Cadherins

2.N- CAMs

3. Integrins

4. Selectins

Question Number : 67 Question Id : 5400731067 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

9 o ¥ S DIRIBT SR & SRS BT HERAT HRal 87
Options :

1. Heikd

2. T -$H

3. 3%

4. oifadg



Question Number : 68 Question Id : 5400731068 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is not used after dehydration for clearing of tissue in case of permanent preparation of slides
Options :

1. N-butanol

2. Isopropanol

3. Xylene

4. Clove oil

Question Number : 68 Question Id : 5400731068 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

R TATES 99 & fore Y § i1 Feifeieur & 1¢ 39 &1 faiiar & forw Iuai gt fvam Siram

Options :

1. T &g
2. ST
3. SadH
4. FAGdA

Question Number : 69 Question Id : 5400731069 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Read the given statements.

i. Body divided into cephalothorax and abdomen

ii. Front side of carapace rostrum and above mediate spine is present

iii. Lage compound eyes, antennules, antennae, mandibles, maxillae are
present on head

iv. Thoracic appendages are undeveloped

v. Abdomen is made of six divisions and last one consist of caudal fork.

Which of the following arthropod larvae demonstrate above characters?

Options :

1. Megalopa larva
2. Mysis larva

3. Zoea larva

4. Nauplius larva



Question Number : 69 Question Id : 5400731069 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

feT a1v Tt @ afev

. R AhArUNEFT 3R 9¢ & Qeq w@ar &

i. U YTEH F TH 3R FW $ir 3R e 39f8AT giar €

i. T W I gyFq @, Eegew, e, AfSaew, AfFwer g §
iv. a8 W W 9t RE Ffag =8 g

v. YT o A6 H fsed giar § 3R el # qo #er 3uftud gar
f=faf@a & o sia ar sryfals aEr § i [Auae gefar 82

Options :

1. ATTTaaTeTat
2. ATARgeat

3. Sfrarerat
4. Araferry araf

Question Number : 70 Question Id : 5400731070 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of these animals is called Cowrie, used in preparation of jwelary, and as currency in ancient time
Options :

1. Murex

2. Cypraea

3. Patella

4. Pinctada

Question Number : 70 Question Id : 5400731070 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

o & Q 1T i blel el & O ST SR & T QR THY H g1 & U # e § ferar wirer um
Options :

1. B

2. v

3. ged

4. fisperst

Question Number : 71 Question Id : 5400731071 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following fructose phosphates, when in low concentration, stimulates gluconeogenesis?
Options :

1. Fructose -1-phosphate

2. Fructose-6-phosphate

3. Fructose-1,6-bisphosphate

4. Fructose-2,6-bisphosphate

Question Number : 71 Question Id : 5400731071 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

9 & S thde I BIthe HH Figdl H 89 IR TS THSAITARN®! Iford Sl 82
Options :

1. oIl -1-BIRUC

2. Thhclul-6- BIRUC

3. Thohelal-1,6 BIUC

4. ThPHe -2, 6[Tm IR

Question Number : 72 Question Id : 5400731072 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Ketogenesis occurs in hepatocytes but they can not utilize ketone bodies due to deficiency of which of the following
Options :

1. Thiokinase

2. Thiophorase

3. Thiolase

4. Thiolyase

Question Number : 72 Question Id : 5400731072 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fRUCITE e & PICISHRM Bl § R A5 T fhd®! HHt & HRUI BICH SIS BT SUANT gl B UTc?
Options :

1. Yrifdbrel

2. YRTB IS

3. YT

4. YIS Sl

Question Number : 73 Question Id : 5400731073 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following peptide hormones is the smallest peptide with only three amino acids?



Options :

1. Thyrotropin releasing factor
2. Oxytocin

3. Vasopressin

4. Prolactin

Question Number : 73 Question Id : 5400731073 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

9 & D1 0TS S SRUM Jad BieT 74T Rith i THE! ol 3 o1 87
Options :

1. YRRISIGH AT g

2. SffTeIRA

3. JEURE

4. UTeifeRT

Question Number : 74 Question Id : 5400731074 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In which of the following forms of electrophoresis the movement of the analyte is based on electro-osmotic flow
Options :

1. Pulse field gel electrophoresis

2. Capillary electrophoresis

3. Iso-electric focussing

4. Polyacrylamide gel electrophoresis

Question Number : 74 Question Id : 5400731074 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

9 ¥ ¥ {50 UoR 1 Saag RN 3 faRav0r ur &1 9o soag] Sieifcd Tl IR STemRd 82
Options :

1. TREBIE S SAde bRy

2. BIUTRISA BRI

3. 3! —olfachWIDIIT

4. TTCATUShTTATS S WieT SAIaRI BRI

Question Number : 75 Question Id : 5400731075 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The enzyme P flu DNA polymerase used in PCR is isolated from-
Options :

1. Thermusaquaticus

2. Thermococuslitoralis



3. Pyrococcusfuriosus
4. None of these

Question Number : 75 Question Id : 5400731075 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

UIRASR  Ugad g aTaT Yo S1U-T UTeitaRs ford & & T fohar oirdn 82
Options :

1. YHYUHACIHY

2. YA e

3. URRIBIHARIR SR
4. g A e T

Question Number : 76 Question Id : 5400731076 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the calculated value of “t” at a df on same level comes lesser then the table value then one can draw inference that-
Options :

1. The difference between the two means is significant

2. The difference between the two means is insignificant

3. Not possible to draw inference

4. The value of calculated ‘t’ and table ‘t” will be same

Question Number : 76 Question Id : 5400731076 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

3R ¢ YT df BT URITIONT e Ueb TR IR dTferep H T 71T Hed A HH AT & ol I ey fordn S Febal § 12
Options :

1. & A & o9 BT fRHSAYT! 82

2. T AT & S BT SARAGAYU! T8 &

3. Frp Y €T At S

4. + o IO T qUT ATCIohT H &1 Yoo A §

Question Number : 77 Question Id : 5400731077 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Co-localization of two fluorescently labelled proteins in an organelle in a cells is usually visualized by
Options :

1. Interference microscopy

2. Darkfield microscopy

3. Atomic force microscopy

4. Confocal microscopy



Question Number : 77 Question Id : 5400731077 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T BIRIBT & 37T | TSI UbT=r F Fafgd U & Ririie=ur 1 e # foad @ o Gavdl 62
Options :

1. FTHIR-T gereif

2. SIHBIcE Yt

3. TN H R geraxff

4. DIDIH geaeaif

Question Number : 78 Question Id : 5400731078 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is true definition of Dotplot is

Options :

1. Method to find locally aligned regions , one from each of two long sequences

2. used to search similar sequences in DNA or protein sequences

3. Graphical method for comparing two sequences to identify region of similarity and dissimilarity
4. to compare every pair of characters in the two sequences

Question Number : 78 Question Id : 5400731078 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

75 7 Sic @i 31 gt uRu St &2

Options :

1. 1 93l H A USRI TSe=H bl Wl B HrIfafd

2. WIEH 7 ST &1 S@ashi & 9 T ol $f GroH & fog Iuarht

3. G sl 7 SfcR = & fog a1fds S0 THM SIR S HH Ridl & Ugd™ &R ddb
4. 31 getrell # U gl Baed 1 SISt Bl UgaH B & for

Question Number : 79 Question Id : 5400731079 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Normally super antigens activates T cells but a new class of superantigen activates B cells is
Options :

1. Protein A

2. Enterotoxin B

3. Pyrogenic exotoxin

4. MAS

Question Number : 79 Question Id : 5400731079 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

mg%ﬁﬁ%ﬁﬁ%ﬁ%m@aﬁ%wmﬁﬁmﬁﬁw
?

Options :

1. MeH-A
2. GIelfR-B
3. URRISI B U o

4. MAS

Question Number : 80 Question Id : 5400731080 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In nomenclature of antibody naming, letter Gof IgG refers to which of these
Options :

1. Heavy Chain

2. High molecular weight antibody

3. Light Chain

4. Electrophoretic mobility

Question Number : 80 Question Id : 5400731080 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
TAITS & AHDHR oG H G &R g & fd guifarg?
Options :

1. g

2. ISTSl o1 3fUifdeh HR

3. ATsce
4. IAFBRICD Tt

Question Number : 81 Question Id : 5400731081 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Hinge region is absent in which of the immunoglobulin
Options :

1. IgG

2.1gE

3.1gbh

4. 1gA

Question Number : 81 Question Id : 5400731081 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

9 ¥ forg grgArasgfor o fewa Rid IufRyd 78t Xgar




Options :
1. IgG
2. IgE
3.IgDh
4. IgA

Question Number : 82 Question Id : 5400731082 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Helly’s fixative ( Zenkers’s formol) is used in fixation of —
Options :

1. Bone marrow, intercalated disc, blood forming organs
2. Hard and chitinous tissues

3. Eye, kidney, calcified arteries, glands

4. Protozoans, smears on slides

Question Number : 82 Question Id : 5400731082 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

giTol fhaRifed (SRt Hab fhaRiR & fog IudIT BielT &2
Options :

1. SRS, SeXbeicS [&Tb, I I aTed 3T

2. B AU BRIHTY D

3. 31, TaP, HIAHRS 3T, Tt

4. TH DI, TASS TR S HIW

Question Number : 83 Question Id : 5400731083 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Which of the following is diazonium salt used in enzyme histochemistry of phosphatases
Options :

1. Indoxylamine

2. Tetrazolium salt

3. Fast blue RR salt

4. Yellow ammonium sulphide

Question Number : 83 Question Id : 5400731083 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

9 & P Frersonf-uy Weeh b es TegHfRe! Hak] § UL gidl 82
Options :

1. SSTeRHA

2. CCTeNfery Hlee




3. HIRE & SRR e
4. Ul SHIFTH GebTsS

Question Number : 84 Question Id : 5400731084 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of these will be used to demonstrate Sudan black B method for demonstration of lipid in tissue sections
Options :

1. Paraffin sections

2. Agar sections

3. Cellulose sections

4. Plastic sections

Question Number : 84 Question Id : 5400731084 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
9 o ford geeaies B fafd gRT S9@ H 91 & e & forg IughT & foran S 82
Options :

1. BRIt aRH
2. ITRITH

3. Aol aRH
4. TRCHIIRA

Question Number : 85 Question Id : 5400731085 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :
Waldeyer’s ring is a?

Options :

1. Primary lymphoid organ

2. Secondary lymphoid organ

3. Gut associated lymphoid organ

4. Skin associated lymphoid organ

Question Number : 85 Question Id : 5400731085 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
R fT T 82

Options :

1. UTfieh ferpig g3

2. fg it BicrpIgS3iT

3. 3fid & T Rrp T

4. 1 A e ferpigg 3




Question Number : 86 Question Id : 5400731086 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is meaning of Hypoxic hypoxia

Options :

1. Decreased oxygen availability to the tissues

2. Diminished oxygen in the blood

3. Oxygen carrying capacity of blood is reduced

4. Decrease in partial pressure of oxygen in the blood

Question Number : 86 Question Id : 5400731086 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
FLUESERIEERIE SRR
Options :

1. 3P DI HH AETH SRl fba

2. 3qd H $HH 3fiaiod

3. 3Gd &1 TS o S B &ar & HHt
4. 7ad H 3fiqio & 3R gard | o

Question Number : 87 Question Id : 5400731087 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who the following found success in using pituitary injection spawning of fishes?
Options :

1. B.A. Haussay

2. Atz and Pickford

3. Aschheim and Zondek

4. Von-lhering

Question Number : 87 Question Id : 5400731087 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
g o foram arelt of8 T maferdl ® fieeyest & oiav 3 § Ywharar urit?
Options :

1. Segy
2. 3l aUT fUwmis

3. 3TN qUTSHedh
4. d g8

Question Number : 88 Question Id : 5400731088 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical



Correct Marks : 1 Wrong Marks :

How much energy is transferred from one trophic level to the next trophic level within a ecosystem?
Options :

1.0.05

2.0.1

3.0.2

4.0.25

Question Number : 88 Question Id : 5400731088 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ORI B 3 T T TN TR & SFTe UIV0T W A fhd-t 3ot iR 8l 82
Options :

1.0.05

2.0.1

3.0.2

4.0.25

Question Number : 89 Question Id : 5400731089 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Different organisms exhibiting variety of biological activities with varying frequencies and are for short duration are
called

Options :

1. Epicycles

2. Phases

3. Period

4. Biological clock

Question Number : 89 Question Id : 5400731089 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Tl Sfta ST SIeRT SIeT TSR &1 dgad! 3R & W1, Uie 9T & e Sifads Tifafd Hd § B Hed 62
Options :

RYERIRETS

2. RO

3. 3(afy

4. Glfds Sl

Question Number : 90 Question Id : 5400731090 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following nerve supplies its motor fibers to tounge
Options :



1. Facial

2. Trigeminal

3. Hypoglossal

4. Glossopharyngeal

Question Number : 90 Question Id : 5400731090 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
g A o 3t dfe foreT &1 a1 qifieT ugand §
Options :

1. B3

2. TSI

3. grRUNANA
4. AR

Question Number : 91 Question Id : 5400731091 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

9-oxodecenoic acid pheromone is produced in which these following animals
Options :

1. Silk moth

2. Queen bee

3. Ants

4. Butterflies

Question Number : 91 Question Id : 5400731091 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

9-SfFIS IS 3 BRIAM 4 # b Sftq & wifad giar 82
Options :

1. ey

2. I

3. <fear

4. foaferar

Question Number : 92 Question Id : 5400731092 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which of these statements is incorrect for hill stream fishes?

I.  Usually have cylindrical body

ii. Body generally in size and semi-circular head

. Scales are poorly developed and absent on ventral surface
iv.  Mouth is at the anterior end as a transverse cleft

Correct answer is?

Options :
1. LI

2. LIV
3.0 1M
4. 1,1V

Question Number : 92 Question Id : 5400731092 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TR YT ATl & fov e & ¥ Fi9 a1 Fu7 T8 787 &7

|. "ATIAT SR N g §

II. 2T AHISAT ER F BT 3T AT anl-gder aar §

. ereeh Qi a¥g faspfld 781 819 2T 31e} dlel W 3Hiedd g gl
IV.  #Hg 3T T8 W $ieh & aig 8T &
e 3T 872

Options :
1. LI

2. LIV
3.0, 110
4. 100, IV

Question Number : 93 Question Id : 5400731093 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A high grade of collagen produced from fish air or swim bladder of cat fishes is called?
Options :

1. Hydrolysed protein

2. Shagreen

3. Isinglass

4. Glue



Question Number : 93 Question Id : 5400731093 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

I IS HI Piciol ol b dhe ASord! & arg aul Rarscer ¥ Iafad gidl § Hed 82

Options :

1. SIS SIATSSGUIcH
2. TEIA

3. 3SR
4.7

Question Number : 94 Question Id : 5400731094 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In fishes which cranial nerve innervate gills and lateral line of trunk?
Options :

1. Glossopharyngeal

2. Trigeminal

3. Abducens

4. Vagus

Question Number : 94 Question Id : 5400731094 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

P I hSAdHAPIIAHS! auT dexd A8 ddf Bl SArEIfed Bl 82
Options :

1. TR 37e

2. TSI

3. Tsggad
4. Y

Question Number : 95 Question Id : 5400731095 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who first time suggested that lateral line system of fishes is a receptor for water currents?
Options :

1. Hofer

2. Hogland

3. Dijkaraff

4. Murray

Question Number : 95 Question Id : 5400731095 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical



Correct Marks : 1 Wrong Marks :

g Ugell IR I8 I B HSferdl | de’d Arsdd Ul & 981d & forg RAeR 82
Options :

1. BT

2. BNTAS

3. SISTHITR

4. 7%

Question Number : 96 Question Id : 5400731096 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of theseis incorrect for osmoregulatoryadaptive modification in case of fresh water teleosts?
Options :

1. Produce large amount of urine

2. Less amount of mucus secreted on the skin

3. Kidneys of teleosts are very small in relation to body size

4. Kidneys contain large number of glomeruli

Question Number : 96 Question Id : 5400731096 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T Ut Bt SeiiiRe Asferdl § SRRt srHier TR & oy § f9 & Fr 9t et /2
Options :

1. SATGT 911 § 93 &1 IdTed

2. A R HH HEH H B IRAUl

3. YRR B! ga1 | CHferaRe | 9o &1 9gd DIl 3THR

4. D H 3(fee HET H TeliRels &1 SURTd

Question Number : 97 Question Id : 5400731097 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Voltage gated potassium channel is responsible for which part of the action potential?
Options :

1. Depolarization of the membrane

2. End of action potential

3. Vascular release of neurotransmitter

4. Repolarization of the membrane

Question Number : 97 Question Id : 5400731097 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

diees ¢S e R o=l 4 # fora fava & by o & for foiar 82

Options :



1. f3reaht & fag@on

2. fopan fq1a &t Gt

3. RIgigHIeR & ddg! gfad
4. TSIt o1 gAY DRl

Question Number : 98 Question Id : 5400731098 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

which of the following is example of oncogenes for breast cancer?
Options :

1. RB-1

2. C-myc

3. HER-2

4. BCR-ABL

Question Number : 98 Question Id : 5400731098 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

49 & DIRi T & HAR B SHibISiA BT ISTER 82
Options :

1. RB-1

2. C-myc

3. HER-2

4. BCR-ABL

Question Number : 99 Question Id : 5400731099 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Among crustaceans neurosecretory X organ sinus gland is located in each of which of following?
Options :

1. Eye stalk

2. Orbital notch

3. Hinge joints

4. Pleopods

Question Number : 99 Question Id : 5400731099 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

HICTRA H FRIETE! X g UfY g 7 § frg R R wd 32
Options :

1. e

2. 3Rded 4

ARSI




4. T3S

Question Number : 100 Question Id : 5400731100 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following are the sources of somatostatin hormone in human in addition to hypothalamus?
Options :

1. GI tract and Kidney

2. Pancreas and stomach

3. Pancreas and GI tract

4. Liver and GI tract

Question Number : 100 Question Id : 5400731100 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

P & P T § SRR R & W 2
Options :

1. 3IeR AIeT dYUT dd»

2. 3T qYT U

3. IR dYT ATgRATA

4. g d dl HIgRlcT




